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1 centimetre (cm) = 10 millimetres (mm)
1 metre (m) = 100 centimetres
1 Rilometre (km) = 1,000 metres

1 kilogram (kg) = 1,000 grams (g) w

1 tonne = 1,000 kilograms

1 litre () = 1,000 millilitres (ml)
1 litre = 1,000cm®
Tem® =1 ml
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2D Shapes (Polygons)
square Atrlangle
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pentag on hexagon OCtO.gOﬂ

3D Shapes
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cube cuboid sphere pyramid cone

Oclrcle

rectangle

faces = flat sides
edges = where two faces meet
vertices = where three or more sides meet (corners)
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10

half past

3am = 0300 6:30am = 0600 9:45am = 0900
3pm = 1500 6:30pm = 1830 9:45pm = 2145
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+ X - = - 5X-6=-30
- X 4+ = - 5 X 6=-30
- X - =+ 5 X -6=30




